Module A Foundations in Chemistry

O proton has vitualy the same mass as a neutron, of | On ekctron has negligbe mass of about
/1656" of the mass of a proton O proton has a charge of I+ whist an ekctron has a charge of -
and a reutron has a charge of O/reutral

Every atom of the same elment contains the same number of protons. Different elements contain atoms
that have different numbers of protons The periode table lists elements in order of the number of protors
in the nucleus, known as the atomic number.
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Hydrogen-| Every atom of an elment has the same number of protons. Unlike protors, the number of
neutrons in an atom of an element can be different — this creates isotopes.

There may be. smal ditferences in phusical propertgs,ith mgsotopes of an element
Hydrogen-2 having a higher melting porrt, boling Jp‘ol%@@_ ébut e chemical reactions are the

same. NO
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On on'is a charged atom The number of elctrons is diferent from the number of protors. Cations have an overal positive
charge. Onions have an overall negative charge

Cation- Li+ Onion — F-
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Relative mass (atomic), O, is the welgted mean mass of an atom of an element compared with 1/ 12 of the mass of an
atom of carbon-12.
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